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gl

(iv) @E— : J97 G&IT 18 T 23 % 7 ITIT 597 & | I F97 T 3 80 T 100 gl &
[oRGT STHT FT13T | I99 G&97 18 @97 19 GiF STeRT 597 & /|

(v) G —T: Y97 G&I1 24 T 28 5 F19 I97 & | I ¥97 &7 I 120 & 150 V=gl 7
ferar ST =feT |

(vi) TE—9: 97 G&I7 29 UG 30 FHIET STETRT Fo7 & /|
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TGS 1799 & | ot s AT £ |

1. “AFE yid, SRR gt iR framfia ame o o9 aiedeie sedi 1 379w 2 |7
freferfaa syiieramatl & fepem =g aRemn € 2 2

(A) TeE Hi. due

B) T

(C) S &, sheft

(D) Ui foe-St &1 st 1

General Instructions :
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Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into 4 Sections — Section A, Section B,
Section C & Section D.

(iti) In section A - Question number 1 to 17 are Multiple Choice (MCQ) type

Questions. Question No. 15 to 17 are Source based Questions.

(iv) In section B - Question number 18 to 23 are Short Answer (SA) type
questions. Answer to these questions shall be written in 80 to 100

words. Question number 18 & 19 are Source based questions.

(v)  In section C - Question number 24 to 28 are Long Answer (LA) type
questions. Answer to these questions shall be written in 120 to 150

words.

(vt)  In section D - Question number 29 & 30 are Map based questions.

SECTION - A

There are 17 questions in this section. All questions are compulsory

1. “Human geography is the study of the changing relationship between the
unresting man and the unstable earth.” Who among the following
geographers given this definition ?

(A) Ellen C. Semple
(B) Ratzel
(C) George B. Cressey

(D) Paul Vidal de la Blache 1
2.  YNd ¥ €9 gehi & a9 ¥ fefafgd weHi o1 ufeu 3R 92t faere o1 =3m i

1. Hivid ggeh amie gfe ¥ ngeaqul § |
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I1. 3 &I qTiE oh! TSt SgH ohid & |

II1. seht fmior “uretr Tt memmt srferestor gra fekar i 2 |
IV. 3 3midies foemm 1 wife &7 o wEres 2 |

Tonea :

(A) $aa [, [I & [ 9 & |

(B) whaet 11, [T & IV EEl & |

(C) $aa [ IIWEIVEEE |

(D) Haa I, [T IVHE S | 1
3. T Yot o1 3UeH B -

(A) SIETERETE! et (B) T W

(C) T o (D) = T 1
4. Ty=fafga 49 o0 o iiEw (@) TR e ?

(A) e (B) HEEHL

(C) wfwn (D) 7§ 1
5. Tefciad TR o TR H § TEl I 1 9 I :

(AT % JhR) (TR)

(A) 3TNt - 3IE

B) @ - fomeht

(C) T - AT

(D) T=TE - 3PN 1

6. Frferfad o & =t arior swdt 1 o 7 & 2
(A)  Tefor Sfeaat 3Tue Sfia a1 T it smmenfia smerfies foRamatt @ et § |
B) T sfE § gTfees ey g B § |
(C)  Trefior & T Sfe 1 & Sfeet 3T i Bian 2 |
(D) foret ®9 @ rafRra B1d afw=i 2 | 1

2.  Read the following statements regarding Border Roads and choose the
correct option :

64/2/2 4 *A
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I. Border roads are strategically important.

II. They strengthen defence preparedness.

ITII. National Highways Authority of India construct these roads.

IV. They are helpful in accelerating economic development.

Options:

(A) Only I, IT and III are correct.

(B) Only II, III and IV are correct.

(C) Only I, IT and IV are correct.

(D) Only I, III and IV are correct. 1

3.  Sub-field of political geography is )
(A) Behavioural Geography (B) Geography of Resources
(C) Geography of Tourism (D) Military Geography 1

4.  Which one of the following is garrison cantonment town ?
(A) Kandala (B) Saharanpur
(C) dJharia (D) Mhow 1

5. Choose the correct pair of the following types of towns :

(Types of Town) (Town)
(A) Industrial - Itarsi
(B) Mining - Singrauli
(C) Garrisson - Satna
(D) Administrative - Ankleshwar 1

6. Which among the followings is NOT the correct feature of rural settlements ?

(A) The rural settlements derive their basic needs from land based
primary activities.

(B) Inrural settlement, social relations among them are intimate.
(C) Inrural areas way of life is complex and fast.

(D) The spaltsely located small settlements. 1
7. feuwusya I vd 11 o1 A ShifST 3R Tet foshed &1 =@ it |
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FYA-I S S HEHTE qYT TSl 1 QL o [ TTell heH 81 33T, I8 U
HHTS 8] gl ST Fehdl § |

HA-II  NeWTal & BF IT6l S gIWTET 1 &I § TRt IR § o s=met o
QI3 TR == T § |

fompey

(A) HHITWIIEEE |

B) FHIT TS |

(C) ¥ 1Td 11 HE &, T A I, A 11 ! Tt A& & ¢ |

(D) w1 1g [ 98l 2 3N HeH [, U [1 < J& AT 2 | 1
8. fava s frfarfga tormmit & 4 foruehl wiems waiftes 2 2

(A) IR-FTEH N ErHrt (B) UR-hAfea Temm

(C) ATEferaTs R HeTgde Tt (D) ITTUe Ty AT 1
9. S et o FetRad UTTHI ol Ufgu 3R 3%k HIATshT o Hal faehed ol giHT :

[. 3= 37 faemy

II.  Terfes Treq

1. &= favem

IV. Yef¥es

foea

(A) T, 1I, 111, IV
@B) I, 1II, 11, IV
(C) 1,1V, 11, 11
(D) T, 1V, II, 11 1

10. FAfaRad < et &1 3rerA Hif 3R T8 foehed w1 =9  Hifse
HYA-I  SHITReH I HoRHUT 1 STTH Tl H IS TR Jeidl gFl 31Tk 9e
STt & |
HYR-II RO SEE A1 a1 fRE 2 St 2 391 He i ¥ sed! B |
e
(A) HIA HYH [ HE 2 |
(B) el HA [ EE 2 |
(C) HWITITEE I HUT I, [ HTHS IO & 2 |
(D) HUH I [T 2 | e 11, [ o1 ot afomm § | 1

7. Study the given statement I and II and choose the correct option.
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Statement-I : A society which fails to acknowledge and take effective
measures to remove such discriminations cannot be treated as a
civilised one.

Statement-II : Duly acknowledging the adverse impacts of these
discriminations, launched a campaign called ‘Beti Bachao — Beti
Padhao’ in India.

Options :

(A) Statement I & II are correct.

(B) Statement I & II are incorrect.

(C) Statement I and II are correct, but Statement I is not the correct

explanation of II.
(D) Statement I and II are correct, and Statement I 1is correct
explanation of II. 1

8.  Which one of the following railways is the longest in the world ?
(A) Trans-Siberian Railway
(B) Trans-Canadian Railway
(C) The Australian Trans-Continental Railway
(D) The Orient Express Railway 1

9. Read the following approaches of human geography and choose the correct
option of the chronological order :

I.  Exploration and description II. Spatial organisation
ITII. Areal differentiation IV. Regional analysis
Options :

(A) T, 1I, 111, IV
@B I, 11,11, IV
(C) 1,1V, I, 11
(D) I, 1V, 11, I11 1

10. Study the following two statements and choose the correct option.
Statement-I : In the last stage of demographic transition both fertility
and mortality decline considerably.

Statement-II : Resultant population is either stable or grows slowly.

Options :

(A) Only statement I is correct.

(B) Only statement II is correct.

(C) Statement I and II are correct. Statement II is not the correct result
of statement I.

(D) Statement I and II are correct. Statement II is the correct result of
statement I. 1

11.  Torsll €M W SHEEA i HTeHh dig Hmfaiad 4 § ford fRafq d gt 7 2
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(A) 3= THE, HH TR T 3= ATEH H |

(B) 3= T, I JIet a1 I I ¥ |

(C) T SR, 3= et T foeT e |

(D) m ey, T goget an e e 1 | 1

12. g3 1 EwrE fmfeiad Smenl 1 9 fohaes faa smmar g ¢
(A)  wafiens B) T
(©) T+ (D) =g 1

13. fogd @ 9 "ef¥a Fefaiaa s 1 afer 3T 921 foshed o1 =5 hife |
I I8 @ 1 gl T e § |
II. 394 3cuTed 311 AT H BT & |
111, 355 foe yerR 1 foade, Sues < 3TTergarehdl it 2 |
IV. 389 49 Jepr shl o1 T 9olTelt shY Jrrergaehdl &l 2 |
foeped
(A) HEAIIIFRE |
B) FAAIITIVEET |
(C) HaAIFIHEF |
(D) A IITIVHEER | 1

14. frafafed § & oW w1 @i snaa sam i e ¢

(A) B3 (B) TegfmfEm
(C) #ie (D) 9k 1

11. When will be the growth of population positive in any place and in which
one of the following conditions ?
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(A) High birth rate, low death rate and high immigration
(B) High birth rate, high death rate and low immigration
(C) Low birth rate, high death rate and low immigration

(D) Low birth rate, low death rate and low immigration 1

12. Under which one of the following sectors, collection of information comes ?
(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary 1

13. Read the following statements regarding open-cast mining and choose the

correct option :

I.  This is the cheapest way of mining.

II. The output is in large quantity.

III. It requires specially designed lifts, drills.
IV. It requires special ventilation system.
Options:

(A) Only I and II are correct

(B) Only III and IV are correct

(C) Only I and III are correct

(D) Only II and IV are correct 1
14. Which among the following is NOT the mineral based industry ?

(A) Iron and steel (B) Aluminium

(C) Cement (D) Salt 1
Trafaftaa gra =1 31ee HIfe ST 9. 15 9 17 &1 3T fakau :

64/2/2 9 P.T.O.*A
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TR {07 AT

3T e weg wew % 31 et Sy Setarg &= ¥ srafedd 3 | g7 areda § gAR &
= HaiTYes Ui {Use 5ol 3 8 Uk & | S s fomwd: e o1 3= 9igur s9eh!
TorINaT 8 | TRT TRIS 3 RT3 1§ &, R I8 TS ST Td W0 ST HETEA] & 3=
& A % HI Toiferd 81 TS ¢ | T8l WA SRR b Tl foshrE’ qen iy
AT THI 81 | ol G907 Je9 hIRishH %8 3TEIHd &, Nwe Sga el § Jhadrges
Toranfeara ferarm 7o 2 | I8 Fifiehtor sl Teh A YIfH <At TUTall 1 GUTH | % 149G
BRTT | STt W01 a9 hRishH W, el T Seafael o s gl Sl IgaHdl & 3T
WTehfcieh HHTEAT o TaEH TS |TgeIfeh TevTiTdT & SR <l STTefifaeht sl gure o1 s
1 2 | TUset 9 ast 5, U7 foemma wermera & e wmw aeie meft firee gro feranf=a
STt HERT FEE 5 31kt T3 Taret St et 20 wfrwrd gft 1 3w=m fFan g |

15. fomaforfea o & o9 o - frefieor 1 ad g ¢
(A) T ife i | Srermshiad (B) fH =t IcaTeehar H HH)
(C) &ftd o o1 fore (D) N AT [ 7 R 1

16. frfefga 3 & -t &1 i a1 qed Jg@ HRor R ?
(A)  HaT A (B) = 3cTERar
(C) 3Aftres IcTeshar (D) = 9t &1 frm 1

17. ST & G I |1 YA Hel T8 & 7
(A) ST SHATNT TgA et 2 |
(B) y-Tftentor & o s § i sg TR |
(C) TSI HHR 3 TET eT T J&e sk o fore o feam |
(D) Tetl BHT0T Yeier = gt 3§ ftr 3 3o & fokiy e fean 2 | 1

Study the following source and answer the Question No. 15 to 17.
A Case Study

64/2/2 10 *A
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Jhabua district is located in the westernmost agro-climatic zone in
Madhya Pradesh. It is, in fact, one of the five most backward districts of
the country. It is characterized by high concentration of tribal population
(mostly Bhils). The people suffer due to poverty which has been
accentuated by the high rate of resource degradation, both forest and
land. The watershed management programmes funded by both the
ministries of “Rural Development” and “Agriculture”’, Government of
India, have been successfully implemented in Jhabua district which has
gone a long way in preventing land degradation and improving soil
quality. Watershed Management Programmes acknowledge the linkage
between land, water and vegetation and attempts to improve livelihoods
of people through natural resource management and community
participation. In the past five years, the programmes funded by the
Ministry of Rural Development alone (implemented by Rajiv Gandhi
Mission for Watershed Management) has treated 20 percent of the total
area under Jhabua district.

15. Which among the following is correct meaning of land degradation’ ?
(A) Waterlogging in degraded land(B) Declining productivity of the land

(C) Increasing of degraded forests (D) Increasing of agricultural land 1

16. Which one of the following is the main cause of land degradation ?
(A) Soil erosion (B) Low productivity
(C) High productivity (D) Increasing wastelands 1

17. Which statement is NOT correct regarding Jhabua ?
(A) Jhabua is tribal concentrated district.
(B) Poverty has increased in the people due to land degradation.

(C) State government has provided money to implement watershed
management programme.

(D) Watershed management programme has outstanding contribution in

land treatment. 1
TE-§
T3 &A1 18 3 19 Fi AT T & |
64/2/2 11 P.T.O.%A
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18. feuwru = w1 31 Shifsie 3T 3o = few T y9ai w1 3o fafige

(18.1) ﬁaﬁ%qmaamﬁaﬂm%%m 1
(18.2) 3 ¢ AW & A feAfaT ST 36 Fommi & IS # | 1
(18.3) T & A 3TR B & &9 H 3ifehd u=iqi o 7 foifaw | Y+l =1
e : fefafaa yea hae g wiefE & fore Te7 T@ 18 & e W E

(18.1)  =THT T foht Q1 HETETRI &1 et 7 7 Y+ %=1
(18.2) AT X o1 fmtor fohmr & o g fopa w2 1
(18.3)  UHTHT &L o gl Toii o 3ifam a6 I fefaw | Y+ %=1

19. feu Ty Ha w1 ufew 3R e feu e et @ 3 fafa
& TGO < Y@ |id fafay 3, ARiiehd FHiv 71 die-hig ®H, disrEiad Hiet-
AT 3T ST 3efe € | S0 I, etissedieRt, qe |gerties nfafafe @ g fafis
Icq Teel HET H BH aTel HATERR fohg SGEU i ATel IR 1 SIS ST Hehell & |
YR IR & TR 1 SHIee & T § eaf T o g w71 ST & |

SECTION -B
Question No. 18 and 19 are source based

18. Study the given picture and answer the questions that follow :

64/2/2 12 *A
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Delta of the Nile

To Asia

Bir Hassan Lakee
y  Great
oAy Bitter Lake

o Little
N\ b Biltter Lake

— SHL CANAL
—m RATLWAYS
= FRESH WATER CANAT,

¢ Ain Musa

50 km 0 50 km )/ ® Sudr

(18.1) Name the waterway given in the picture. 1
(18.2) Name the two sea connected by this waterway. 1
(18.3) Name the ports marked as ‘A’ & ‘B’ in this picture. b+l =1
Note : For Visually Impaired Candidates in lieu of Q. No. 18 only.

(18.1) Which two oceans are connected by Panama Canal ? Bb+l=1
(18.2)  Which country has constructed ‘Panama Canal’ ? 1
(18.3) Name the terminal ports of ‘Panama Canal’. b+l =1

19. Read the given source and answer the questions that follow :

The main sources of noise pollution are various factories, mechanized
construction and demolition works, automobiles and aircraft, etc. There
may be added periodical but polluting noise from sirens, loudspeakers
used 1n various festivals, programmes associated with community
activities. The level of steady noise is measured by sound level expressed
in terms of decibels (dB).

T TG < @l Al § 8 AT gRT el FoRa T SR HeE S91 F § | 35! el

3TR el 3 Teehi T Y el 2 S8 foh ST /e /TSl 3 TR, 3 Hehi i &2
AT HY-F -1 G < Rl (STfamiaset o vy ¥ I8 wreh W R et 8 1) Tgst
64/2/2 13 P.T.O.*A
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ITATTT H IR hl lsidT HTeT bl TG o IARA b1 HUH S et o deh 371eres Hifird
Tt & | 3T ot eaf g 6 s @ Fre Seiv % sem o) disan - gt # |

et Srguur T fafTe B & qem 3wk disan Yguv o Eia S foh senfies &, afes
a7, gaTé-312 e geEHnt ¥ g A Bt ST B | WA % hE 9 W& vd weEl §

TE TGV §5d @A ¢ |

(19.1) AT JguUT 3T 37 T8 HIT | 1
(19.2) WRA  HEFRI H &l TG0l F1 981 §he & 7 1
(19.3) “eaf yguur v ffre g1 8 |7 o Gfed I8 il | 1

TR ST 20 F 23 Y STHA THR B T & |
20. (a) “Hic R R faga ht SHEEA w71 90 Tfewid g8 10 Tfaerd Tt 9T H e it
2 |7 foave o SHEEa foadawr gy o dew U 36 9 6 1@ i | 3
YT

(b) “SETH ! TIS IR THEH 9 S8t Tger TTH i i oo o s @ xd
T & &9 U Ed fohn S dehar 3 17 A sl Il i ool 319y Td

JfcrehY SHTehi o HeH U 30 YA h! T HIT | 3

21. “YRA Teh T9TE fafaerdn st qfir & |7 30 A 1 g Hifvw | 3

22. WA HfY 6l Th 9 T & €9 H T Sca1eehar’ =1 fogeryor Hifr | 3

23. (a) oIl o FATERNTT Gl & Hawe ] TE HIfT | 3
RE]

(b) @I TETET % TeeTu o Tl <fie 3uT bt Tm Shifer | 3

Of all these sources, the biggest nuisance is the noise produced by
traffic, because its intensity and nature depend upon factors, such as the
type of aircraft, vehicle, train and the condition of road, as well as, that of
vehicle (in case of automobiles). In sea traffic, the noise pollution is
confined to the harbour due to loading and unloading activities being

64/2/2 14 *A
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carried. Industries cause noise pollution but with varying intensity
depending upon the type of industry.

Noise pollution is location specific and its intensity declines with
increase in distance from the source of pollution, i.e. industrial areas,
arteries of transportation, airport, etc. Noise pollution is hazardous in
many metropolitan and big cities in India.

(19.1) Explain the meaning of noise pollution. 1
(19.2) Why is noise pollution hazardous in metropolitan cities in India ?
(19.3) “Noise pollution is location specific.” Explain with argument.

Question No. 20 to 23 are short answer type

20. (a) “Broadly 90 percent of the world population lives in about 10 percent
of its land area.” Examine the statement in context of patterns of
population distribution in the world. 3

OR

(b) “Migration may be interpreted as a spontaneous effort to achieve a
better balance between population and resources.” Examine the
statement in context of pull and push factors that influence

migration. 3
21. “India is a land of linguistic diversity.” Support the statement. 3
22. Analyse the low productivity” as a big problem of Indian agriculture. 3
23. (a) Explain the importance of non-conventional sources of energy. 3
OR
(b) Explain any three measures to conserve mineral resources. 3
g -

T TR 24 9 28 &Yl IAT THR b T B |
24. (a) WRA H 9159 ATEH FoRE TR 41 To XA IGT o @i gl ek TREE Bq AT
GfaaTsies U HerH Uiaed unett § 7 3IgTevl dfed T8 Shifu | 5
ELE]

64/2/2 15 P.T.O.*A
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(b) 9RA H TR AR e YA gR o €I § T I b T ol ISTEWN Hfad T8

HIfT | 5
25. Toea o wiewhi o feregl aier 3TN shi U@ hIfT | 5
26. AL AR Afeded § FAT AT ? AP AR < YR o &9 § T G991 §
fir=tar o6t T I | 2+3=5
27. (a) “Fmiur fepenati 0 3= Menfreh! Tefiaam Tl 2 |7 39 q 6l sare i | 5
Frean

(b) Torzar d 3= i Srafefa T g9Tferd S a1t fohrgl U PRI hl AT HINT | 5

28. “THAf=d ST forh AT o 3Tdid TRaeT adT §9R, $N 3R 399 defem
Toranatt qen arfSe o wrgerfies ansti < Ty =1 gatfes mafima § 1 |7 aER
&7 o e T 39 oM i TrE FHIfT | 5

g —-H°
I GEAT 29 T 30 HIE 3T T § |

29. foava & feu mu voHifass T@r-amfas 3 @ma dimfas demn w1 A, B, C, D, E, F a2 G

T 3ifepa fopam mn B | 37 A fopdl uia 1 vemm fefafad et 1 wgra | hifse

IR 37 TE! A I9eh ITE Wil 78 W@l W el
cfarur STAfeRT &1 ge g §e1 o
el oSt 37Tt B b 8t
TR ETES T Yot & ged geff Rve
EEICLEREE]
 uftge &t
TR H S S o
AT ¥ SFRTER g e

SECTION - C

Question No. 24 to 28 are long answer type questions

24. (a) How are pipelines the most convenient and efficient mode of
transporting liquids and gases over long distances in India ? Explain
with examples. 5

OR

Q== 0amp»
= T = T T

64/2/2 16 *A
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(b) Explain with examples of the importance of Indian ports as gateways
of international trade. 5

25. Examine any five attractions of tourists in the world. 5

26. Why does international trade exist ? Analyse the difference in national
resources as the base of international trade. 2+3=5

27. (a) “High technology is the latest generation of manufacturing

activities”. Explain the statement. 5
OR
(b) Explain any five factors affecting the location of industries in the
world. 5

28. “Integrated tribal development project laid the highest priority on
development of transport and communications, agriculture and allied
activities & social and community services.” Examine the statement in the
context of Bharmaur region. 5

SECTION -D
Question No. 29 & 30 are Map based
29. On the given political outline map of the world seven geographical features
have been marked as A, B, C, D, E, F and G. Identify any five of them with
the help of the following information and write their correct names on the
lines drawn near them :

A. The largest country of South America 1
B. An area of extensive commercial farming 1
C. Easternmost station of ‘Trans-Siberian Railway’. 1
D. A major sea-port 1
E. The shipping canal 1
F. An international airport of Asia 1
G. An international airport of Europe 1
e : FrafeaRaa s Fae iyt wenfEt & fore w7 v 29 % wm W § | 5
o e o I i :
29.1 &A% i gE H CreTUT STHIERT o ToH 9 €31 1 A fIRaT | 1
29.2  3TshiehT H ferega anforsr TS Y &1 w1 A forfa | 1
29.3 UR HT3SREA {oTd o He9 Yol €M &1 A1 faRau | 1
64/2/2 17 P.T.O.*A
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29.4  ISiicis < Teh YYW T U i 19 faRau | 1
29.5  EIAATS TR-TRTE T TTHTT o a8 Ufeed o TIH o1 71 TRy | 1
29.6 et Stormmi 1 Hey ygE SU A fpa qm A g ? 1
29.7 RS JAIEHE a1y v frm cm A fRa R 7 1
30. 9Rd % feu MU TeHifas T@r-amtes 0 fafafaa @ 9 f6i uie dimfas s i
3uh Torgl gra 3ifeha shifSTe 3Tk 3k 7 farfau
30.1  HaIieeh TR ATell T 1
30.2 mm \ﬂ"l(*i{eﬁll ddcd dlcA] sy 1
30.3  hIthi T UM IdTGh TS 1
30.4 Wadl-dis @ 1
30.5 SR — ot QA SR 1
30.6  ITR-cfRur e o1 STl T o1 = 1
30.7  TRRINA — U@ YLl uTE 1
e : FrafaRea e Faa gfEafia whenfiEt & foe wwa wen 30 & wm w g |
i J3A1 & ST foTRaT |
30.1  Gdeeh TR ool T T A feAfgu | 1
30.2 W S SHEEI] U 9ol TS o1 A8 fARay | 1
30.3 il & U IcUTEH TT 1 A faIRaT | 1
304 wWaddeHiEH AT TRGE ? 1
30.5 THFR dc1 MY HREHT foh8 TsI 1 fa & 7 1
30.6 IR cfaor MeraR o 3Tt i o WM 1w feafa | 1
30.7 RRING THE I oo R Tsa H fRa ® 7 1
64/2/2 18 *A
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Note : For Visually Impaired Candidates in lieu of Q. No. 29 only.

Answer any five questions.

29.1 Name the largest country of South America in terms of area. 1
29.2 Name an area of extensive commercial grain farming in Africa. 1
29.3 Name the western most station of Trans-Siberian railway. 1
29.4  Name major sea port of New Zealand. 1
29.5 Name the western most station of Trans-Australian Railways. 1
29.6  Which country the Mississippi waterways is mainly related ? 1
29.7  In which country Johannesburg international airport is located ? 1
30. On the given political outline Map of India, locate and label any five of
the following geographical features with appropriate symbols :
30.1 State with the highest level of urbanization 1
30.2  State with the lowest level of density of population 1
30.3  The leading coffee producing state 1
30.4  Khetri — copper mines 1
30.5  Jamnagar — Oil refinery 1
30.6  The Northern terminal station of North-South Corridor. 1
30.7  Tuticorin — major sea-port 1
Note : For Visually Impaired Candidates in lieu of Q. No. 30 only.
Answer any five questions.
30.1 Name the state with the highest level of urbanisation. 1
30.2 Name the state having the lowest level of population density. 1
30.3 Name the leading coffee producer state. 1
30.4 In which state are the Khetri copper mines located ? 1
30.5 In which state is Jamnagar oil refinery located ? 1
30.6 Name the northern terminal station of North-South Corridor. 1
30.7  In which state is Tuticorin major sea port located ? 1
64/2/2 19 P.T.O.*A
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
SUBJECT NAME GEOGRAPHY (SUBJECT CODE 29)
(PAPER CODE 64/2/2)

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-XIl, while evaluating competency-based questions, please
try to understand given answer and even if reply is not from marking scheme but
correct competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v ) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
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evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
9 If a student has attempted an extra question, answer of the question deserving more

marks should be retained and the other answer scored out with a note “Extra Question”.
10 No marks to be deducted for the cumulative effect of an error. It should be penalized only

once.

11 A full scale of marks 70 (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME 2023

(ANNUAL EXAMINATION)

SUBJECT GEOGRAPHY (029)

PAPER CODE 64/2/2
Set 2
MM:70
Q EXPECTED ANSWERS/VALUE POINTS Page No. | Distribution of
No. inTB Marks
Section A
Question No. 1 to 17 are MCQ’s
1. | (A) Ellen C. Semple Pg. 2 1
T.B-1
2 | (C)Only I, II and IV are correct. Pg. 115 1
T.B-11
3 | (D) Military Geography Pg. 6 1
T.B-1
4 | (D) Mhow Pg. 36 1
T.B-I1
5 | (B) Mining — Singrauli Pg. 36 1
T.B-I1
6 | (C) In rural areas way of life is complex and fast. Pg. 32 1
T.B-I1
7 (D) Statements I and II are correct and statement Pg. 12 1
I is the correct explanation of Statement II. T.B-II
8 | (A) Trans — Siberian Railway Pg. 69 1
T.B-1
9 |(OLIV,III,II Pg.5 1
T.B-1
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10

(D) Statements I and II are correct and Statement 1T
1s the correct result of Statement I.

Pg. 14 1
T.B-1

11

(A) High birth rate, low death rate and high
Immigration.

Pg. 10 1
T.B-1

12

(D) Quaternary

Pg. 61 1
T.B-1

13

(A) Only I and II are correct

Pg. 42 1
T.B-1

14

(D) Salt

Pg. 50 1
T.B-1

15

(B) Decline in productivity of the land

16

(A) Soil erosion

17

(C) State government has provided money to
1mplement watershed management programme.

SECTION B

Question No. 18 &19 are source based

18

(18.1) Name the waterway given in the picture.

Suez Canal

18.2) Name the two sea connected by this
waterway.

Mediterranean Sea and Red Sea

(18.3) Name the ports marked as ‘A’ & ‘B’ in
this picture.

A. Port Said B. Port Suez

For Visually Impaired Candidates Only

(18.1) Which two oceans are connected by
Panama Canal .

Atlantic and Pacific Ocean
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(18.2) Which country has constructed
‘Panama Canal’.

USA
(18.3) Name the terminal ports of ‘Panama Canal’.

Panama City and Colon

Pg. 74
T.B-1

19

(19.1) Explain the meaning of noise pollution.

Noise pollution refers to the state of
unbearable and uncomfortable conditions to
human beings.

(19.2) Why is noise pollution hazardous in
metropolitan cities in India ?

Due to industrial areas, arteries of
transportation, airport, etc.

(19.3) “ Noise pollution is location specific’ . Explain
with argument.

Its intensity declines with increase in distance
from source of pollution.

Question No. 20 to 23

Short Answer Type Questions

20

(a) “Broadly 90 percent of the world population
lives in about 10 percent of its land area.”
Examine the statement in context of patterns
of population distribution in the world.

Pattern of population distribution in the world:-

1 Population of the world 1is wunevenly
distributed.

11 Asia has many places where people are few
and few places where people are many.

11 Patterns of population distribution and
density help us to understand the
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@E www.studentbro.in



demographic characteristics of any area.

1iv The 10 most populous countries of the world
contribute about 60% of the world’s
population. Of these 10 countries, 6 are
located in Asia.

v Any other relevant point. Pg. 9 3x1=3

Any three points to be explained. T.B1

OR

b) “ Migration may be interpreted as a spontaneous
effort to achieve a better balance between
population and resources.” Examine the statement
in context of pull and push factors that influence
migration.

Factors influencing migration :-

1 Migration may be permanent, temporary or
seasonal. It may take place from rural to urban
areas, rural to rural areas, urban to urban areas
and urban to rural areas.

11 People migrate for a better economic and
social life.

11 The push factors make the place of origin seem
less attractive for reasons like unemployment,
poor living conditions, political turmoil,
unpleasant climate, natural disasters,
epidemics and socio-economic backwardness.

iv The pull factors make the place of destination
seem more attractive than the place of origin
for reasons like better job opportunities and Pg.
living conditions, peace and stability, security 11,1 3x1=3
of life and property and pleasant climate. T.B-1

v Any other relevant point.
Any three points to be examined.

21 | “India is a land of linguistic diversity.” Support the
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statement.
Linguistic diversity in India:-

1 There are many languages as well as
dialects.

11 In the context of Modern India, there are
about 22 Scheduled languages and
number of non-scheduled languages.

111 Among the Scheduled languages, the
speakers of Hindi have the highest
percentage.

1v The smallest language groups are
Sanskrit, Bodo and Manipuri speakers.

v The lingusitic region of the country do not
have a sharp and distinct boundaries.

. . Pg. 9 3x1=3
vi Any other relevant point. TB-II
Any three points to be explained.
22 Analyse the ‘low productivity’ as a big problem of
Indian agriculture.
Low productivity i1s a big problem of Indian
agriculture:-
1 The yield of the crops in the country is low in
comparison to the international level.
11 Per hectare output of most of the crops in
India 1s much lower than that of USA,
Russia, Japan.
11 The wvast rainfed areas of the country
particularly dry-lands which mostly grow
coarse cereals, pulses and oil seeds have low
yields.
1iv  Due to high pressure on land resources, the
labour productivity in Indian agriculture is
also very low. Pg. 56 3x1=3
T.B-I1

v Any other relevant point.
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Any three points to be analyzed

23 | (a) Explain the importance of non-conventional
sources of energy.

Importance of Non Conventional sources of energy:-

1 Sustainable.

11 Renewable.

111 Eco-friendly

iv Cheaper energy sources

v Pollution free

vl most equitably distributed.

vii Any other relevant point.
Any three points to be explained. 'II)‘gBSI(; 3x1=3

OR

(b) Explain any three measures to conserve
mineral resources.

Measures to conserve mineral resources:-

1 Use of alternative energy sources like solar
energy, wind energy etc..

11 These should be developed to replace the
exhaustible resources .

11 Scrap metals will enable recycling of metals.

iv  Use of scrap is specially significant in metals
like copper, lead and zinc.

v Use of substitute for scarce metals may also
be reduced their consumption.

vi Export of strategic and scarce minerals must
be reduced.

v Any other relevant point.
3x1=3
Any three points to be explained. Pg. 83
T.B-11
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SECTION C
Question No. 24 to 28

Long Answer Type Questions

24

(a) How are pipelines the most convenient and
efficient mode of transporting liquids and gases
over long distances in India? Explain with
examples.

Pipelines are convenient mode of transportation
in India:-

1 Solids can be transported through pipelines
after converting them into slurry.

11 Asia’s first cross country pipeline covering a
distance of 1157 km. was constructed by OIL
from Naharkatiya oil field in Assam to Barauni
refinery in Bihar.

ni It was further extended up to Kanpur.

1v  Another extensive network of pipeline has
been constructed in Western and northern
India.

v Hajira-Vajaipur-Jagdishpur (HVJ) is
most important pipeline constructed by
GAIL .

vi  Natural gas is transported from
Mumbai High and Bassein Gas fields
to various fertilizers, power and
industries.

vil Any other relevant point.

Any five points to be explained.
OR

(b) Explain with examples of the importance of
Indian ports as gateways of international
trade.

Pg. 121 5x1=5
T.B-11
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Importance of Indian ports:-

1. India is surrounded by sea from three sides
and 1s bestowed with a long coastline.

11 Water provides a smooth surface for very
cheap transport.

111 India has a long tradition of sea faring.

v Its West coast has more ports than its East
coast.

v Kandla port receives a large quantity of
petroleum, petroleum products and
fertilizers.

vi Mumbai port trades mineral oil.

vii Vishakhapatnam port developed for
handling iron ore, petroleum and general
cargo.

viil Any other relevant point.
Pg. 127 | 5x1=5

Any five points to be explained. T.B-1I
25 | Examine any five attractions of tourists in the world.
Five attractions of tourist in the world :-

1 Climate

11 Landscape

11 History

iv  Art
\Y Culture

vi Economy

vili  Any other relevant point.

Any five points to be examined. 1')1‘g1:;,6{3 px1=5
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26

Why does international trade exist? Analyse
the difference in national resources as the base
of international trade.

International trade exists because-

1 International trade is the result of
specialization in production. Different
countries practise specialization and
division of labour in the production of
commodities or provision of services.

11 Each kind of specialization can give rise
to trade.

111 Any other relevant point
Any two points to be explained. 2x1=2

Differences in national resources as base
of international trade.

1 Geological structure

11 Mineral resources

11 Climate

iv  Any other relevant point. 3x1=3

Any three points to be explained.

Pg. 82 2+3=5
T.B-1

27

(a) “High technology is the latest generation of
manufacturing activities.” Explain the
statement.

High technology manufacturing activities:-

1 It is best understood as the application of

intensive research and development (R and D).

1 It is based on advance scientific and engineering

character.

iii Professional workers (white collars) make up a

large share of the total work force.
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1v These highly skilled specialists greatly
outnumber the actual production (Blue collar)
workers.

v Robotics on the assembly line computer-aided
design (CAD) and manufacturing , electronic
controls of smelting and refining processes.

vl The constant development of new chemical and
pharmaceutical products are notable examples.

vii The Silicon Valley near San Francisco and
Silicon forest near Seattle forest are examples
of Technopolis.

viii  Any other relevant point

Any five points to be explained.
OR

(b) Explain any five factors affecting the location of

. L. Pg. 53 5x1=5
industries in the world. & X

T.B-1

Factors affecting location of Industries in the
world are:-

1 Access to raw material.

11 Access to market.

11 Access to labour supply.

1v Access to sources of energy.

v Access to transportation and communication
facilities.

vi Government Policy

vili Access to agglomeration economies.
.ee . 5x1=5
viil Any other relevant point. Pg.

46,47
Any five points to be explained. T.B-I

28 “ Integrated tribal development project laid the

highest priority on development of transport and
communication, agriculture and allied activities &
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social and community services.” Examine the
statement in the context of Bharmaur region.

Integrated tribal development project in context
of Bharmaur region:-

1. Development of infrastructure in terms of
Schools, healthcare facilities, potable water,
roads, communication and electricity.

11 Tremendous increase in literacy rate.
11 Improvement in sex ratio.

1v Decline in child marriage.

v The female literacy rate increased.
vi Gender inequality has declined.

vii During last three decades the cultivation of
pulses and other cash crops has been
increased.

viil Any other relevant point.

Any five points to be examined

Pg. 5x1=5
107,108
T.B- 11
SECTION D
Question No. 29 & 30 are Map based
29 | Map Work. Identify any five . (see attached map) 5x1-5

For Visually Impaired Candidates Only.
(Attempt any five)
29.1 Brazil
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29.2 Velds

29.3  St. Petersburg
29.4 Auckland
29.5 Perth 5x1-5
29.6  USA

29.7 South Africa
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30 | See Attached Map. (Attempt any five)

5x1=5
For Visually Impaired Candidates Only.
(Attempt any five)
30.1 Goa
30.2 Arunachal Pradesh 5x1=5

30.3 Karnataka
30.4 Rajasthan
30.5 Gujarat

30.6 Srinagar
30.7 Tamil Nadu
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